Notes of Online class 1

0.1 Mathematics of Chance

Worksheet 4
1) @mM3" MIMWEBBUI B3aM1a] ag)ola.
a) 1AM aDLIEBUS aBOMEI00 ?
b) eMgo MEI ARYHINBH TVIWID® af)@?
C) @eNZo QII@3 BRYINBH MVIWID af)@?
d) 8@ ®eInWH:leje &150M88 TVIWI® af)@?

Answers

a) (H,H),(H,T),(T,H),(T,T)

=

b) @Mz0 ®mel BRYHINBS MVOWI® =

C) @&NZo QIOG3 BRYH:INBHB MVIW D= %

L[N

d) @ @emwslejo @RYHHITMBB MVIWID =

2) 1,2,3- - 17 agyam1 QL0603 6306000 BICAI &SLIMIES af) @] OaIslel5lelesm.ar@ o3 Mlamo
EMIBHIND® BHANGHBATD

a) BQMVoAIY H1FVMBB MVIWI® o) @?

b) @REIRIMVoaIY H1500088 MVIWID af)@?

¢) 3003 WMo BH1FOMSS TVIWI® af)@?

d) 2 6030 3603Qo LIMMAIZRHIMSBS TVIWI® af) @ ?

Answers

Sle

a)

b)

=

=

<)

d)

=

3) 1 po®@3 6 2160 R6UERSEIGE af)NVTRIERM H@ ag)O1QaN.
a) 403 ®IOYQss Mo BRYIMBB TVIWID af)@?
b) 2603 VEMI®RBHOMSS TVIWI® af)@?
) 2 3o 300Qo YIMIMo BRYM:IMSS TVIWI® af)@?

d) @RERIR|MVoaIY BRYHRHIDIBTIHNIMSS TVIWID af)@?

Answers

a)
b)
<)

d)

olw o= ol olw




4) 1loo@3 6190 MVoaIid:U3 ag)g@NVIGBHBM BME" SHRBHNUT af)O1QATO

a) aneIEBUY aBO®EI0

b) @Mzo BQMVoAIY ERYBHIMBB MVIWI® af)@

) @eNZo EFMVoAIY BRYGHIMBS TVIWID af)@

d) 8006n0 aJdemaIdo @YHIMBB TVIWI® af)@

) aDPIER8NS Db 10@3 @09 ERYHM88 TLIWI® A @?

a) (1,1),(1,2),(1,3),(1,4),(1,5),(1,6)
(2,1),(2,2),(2,3),(2,4),(2,5),(2,6)
(3,1),(3,2),(3,3),(3,4),(3,5),(3,6)
(4,1),(4,2),(4,3),(4,4),(4,5),(4,6)
(5,1),(5,2),(5,3),(5,4),(5,5), (5,6)
(6,1),(6,2),(6,3),(6,4),(6,5),(6,6)

b) @REJNICIWIGE goransmo , §andie AIG1WIGE Poransmo ,@emide Q1B PAaneNo
@O 9
(mowé(c»% = %

b) Total favourable outcomes is 9
Probability is 5 = ]

1
9) (17 1)(174)7 (47 4)7 (47 1)
ooy = 1

d) 28

5) aa@allm’ gan” @OCMIEIS8 BRYBOEBEBBME nla), ajdla] , Mlel MOOMIE88 Hovejo LI .alel
®OO1G3 @M.
a) af)@ OB BRYBOEMEBBUI WO1HNHI?
b) sco Moome|88 @RYEOMEEBUY WA1HNIMBH MVIWLD af)@??

) alymiay MoOMILISs GRYROEMEBRUY WATBNINBS TVIWID of)@?

a) GRISIHBOS af)eiPo 3 X 3 =9

(Green, Green),(Green ,Red),(Green,Blus)
(Blue, Green),(Blue ,Red),(Blue ,Blue)
(Red, Green),(Red,Red),(Red,Blue)

b) (Green,Green),(Red,Red),(Blue,Blue)
MLIW Y= % = %

L _2
) owy® 1 — 3 =3
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